2018 4 JF Fhitifba (FFH) Quiz 3 [M1H
1. F-7ua1oiiconT

c h
(7) E? = m2c* + c* + p*cflcm=0E Xk OF =W EIR AT 2 LT A

fFois,
h
)T xoricmERATEER - 7u4oRXRNHTL 32, (H:

E? = mgf:4 +p2r320: ANTHHTZ 72\/))
h h
() R=7 ORFEMHE™ " "wTh Y, F - 704 BRI T wTh b

DTINGZEHELE C2mr=nrb% b, DEDETDOLF - 70 A ENE
R ERL5MTH S,

13410 - 260, 120 %1028
2. 2-1. C60 O EH=EIX kg 2 DT 6.02 x 102 kg, 29k b

h 6.63 x 10~34 (mzkg/s

A= — ) = 0.00251 x 1079 = 2.5 x 10~'%{m} = 2.5(pm)
kg - m/s

mv 120 x 10-26 x 220

2-2. HHAT1.5A O 6 fERE L 2 &, 10A = 1000pmfEHE (FEFESH 10A)
IA
2-3. TG ORANZN = a2 o7 2 L 2 BT & (BREEp.17)

Ap— 1:25x25x1071
T T 00 x 109

=0.0313 x 1073 = 3.13 x 10~°m = 31um

2-4. v h—FR—)IVDEREIF22cm BEY v 1 —7 4 —)L NI 7.3m £RE
Inm : 50nm = 20nm : 1000nm = 20cm : 10m
Yoh—FR— ey h—T—NBREDENH S,



